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TOPLEVEL testbench for HSPICE modeling <Question1>

oIy What is the difference between () and 2@?
" row -in case of (D: A0-A11 and B0-B11 are enable, and C0-C11 are Hi-Z, right ?
rsabvesz_top @ @ T T T 0 4D-pih ON-RKP -in case of 2: A0-A11 are enable, and BO-B11 are C0-C11 are Hi-Z, right ?
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I A O PR Ll L X X Switch Disabled . All Channel Hi-Z .
T —EM - omsspvesz i gz; @l H L L DO0+D0- to DO+A/DO-A OM . All the other channels Hi-Z.
e ; o> g:: H L H DO0+D0- to DO+E/DO-BE QN . All the other channels Hi-Z.
R N T e O H L [ Channel A Enabled. Channel B Hi-Z.
| Ry N S| e[l H | H H | Channel B Enabled. Channel & Hi-Z |
1 EAﬁi o] S _7{\_ _ | <Question2> Table 1- Functional Table
1. e 8 o A s 07 g There are no DO+ /D0-, DO+A/D0-A, DO+B/-B on the left schematic.
| B R N = . v As our recognition, DO+/- means A0,A1, DO+A/DO-A means B0,B1
il 1 e o6 = and DO+B/D0-B means C0,C1. Is our recognition correct?
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<Question1>
   What is the difference between ① and ②?
　 -in case of ①: A0-A11 and B0-B11 are enable, and C0-C11 are Hi-Z, right ?
    -in case of ②: A0-A11 are enable, and B0-B11 are C0-C11 are Hi-Z, right ?
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<Question2>
   There are no D0+/D0-, D0+A/D0-A, D0+B/-B on the left schematic.
   As our recognition, D0+/- means A0,A1,  D0+A/D0-A means B0,B1 
   and D0+B/D0-B means C0,C1. Is our recognition correct?


